
 

Max Riedl: „Weihnachtsbäume“ –Komponisten und Auflösung 

Nr Komponist Schlüsselzug 

1 Heinz Däubler 1.Kxd7 

2 Heinz Däubler 1.Dd3 

3 Heinz Däubler 1.b3 

4 Heinz Däubler 1.Kxd7 

5 T.R. Dawson  letzter schwarzer Zug f7 1.gxf6 e.p. bel. 2. f7#  

6 Julius Neukomm 1.Dc1 

7 Viktor I.Tschepischy 1.Dh6 

8 William A. Shinkman 1.a3 Ld3 2Kxd3 Kd1 3,Tb1# 

9 Werber Speckmann 1.Lg6 a)Ke1 2.Ke3 Kd1 3.Tf1# b) 1.. Kf1 2,Kf3 Kg1 3. 
Te1# 

10 T.R. Dawson Remis nach a) 1.Kd1e4 2. Ke1 patt b) 1 Kd1 Kf2 2.e4  
Kg2 3. Ke2 Kxh2 4. Kf2 Kh1 5.Kf1 remis   

11 Heinz Däubler 1.Dd7 

12 Heinz Däubler 1.Txe4 a) fe4 2.Sxd4+ und 3.Lxg4# b) 
1…Te22.Sxd4+ # 

13 Heinz Däubler 1.Ke7 exd4 2. Lxd4 S3 3. Sd6# 

14 Heinz Däubler 1.Da1 Ld1 2. Da6 Le2 3.Dxe6# 

15 Heinz Däubler 1.Th1 Kxd7 2.Th8 Kxd56 3. Td8# 

16 Karl Fabel 1.a5 Lbc2 /Ldc2)  2.Sb1+/Sd1+ Lxb/Lxd1 3. Sd1 

17 Heinz Däubler 1.Sg6 Kd5 2.Se7 Kxd6 3.Kd8 e5 4 .fe5 Ke6 5.Sf4# 

18 Heinz Däubler 1.Sc2 e1D 2. Sd4+ Kxf2 3. Sh3# 

19 Heinz Däubler 1.Sd6 b1D 2.Se4+ Kxc2 3.Sd4+ Kd1 4. Sc3# 

20 Heinz Däubler 1.c4 Kf5 2.Lf7 kg4 3.Le6+ Ke5 4.Lf5 e6 5.Sf6# 

21 Wolfgang Pauli  1.Sf4 Kd1 2.Tx2 Kc1 3.Sd5+ Kb2 4 Sc3 ka1 5. Te1# 

22 Finlayson 1.Da7 Ld2 (LxD 2.Sf4#) Dc5 Sc4 3. Dxc4#  

23 A.Van Green 1.La1 Ke4 2.Lb2 Ke3 3. Lc1+ Ke4 4. Sf2# 

24 Heinz Däubler 1.Sf7 Kxd4 2.Sh6 Kd5 3.Sg8 Kd4 4.Sxe7 d5 5.Sf5# 

 

 


